SMTEI10ARBRE AD-HEHER

] S &5t A

Siaslii) 214 232 446 182
FFRET—TH 346 433 779 402
FFpBT—THB 270 259 529 240
FFHE=TH 282 303 585 247
FFERETUT B 704 838 1,542 718
FFHRETRTH 1,245 1,428 2,673 1,137
FFRETRTH 1,379 1,518 2,897 1,109
FFERTETH 470 556 1,026 448
FFERT/\THB 188 195 383 218
IE¥E—TH 199 244 443 223
BFRI—TH 1,038 1,146 2,184 1,024
./ O 8T 323 340 663 262
MSET—TH 490 547 1,037 492
MSBI—TH 1,561 1,825 3,386 1,471
MSET=TH 473 537 1,010 402
MKETETH 529 542 1,071 473
/NE BT 822 884 1,706 637
/INHET—TH 109 113 222 100
/INABRT=TH 913 919 1,832 759
INABT=TH 203 206 409 160
FINET 442 629 1,071 537
FMHET—TH 244 233 477 214
FPEET—TB 374 362 736 279
4 fafr 1 1 2 1
SER—TH 430 467 897 371
SEET=TH 415 559 974 455

=30 757 812 1,569 650
= BRET 337 374 711 295
R HET 357 357 714 294
— &% 231 258 489 200
T A< BT 1,074 1,151 2,225 952
ITEES: ) 1,063 1,128 2,191 847
AERT—TH 281 309 590 273
RAERT—TH 643 755 1,398 599
AER=TH 192 233 425 186
PRAERTIUT B 430 427 857 243
EEH 229 196 425 172
EEE—TH 399 454 853 364
EER-TH 318 376 694 298
EER=TH 606 669 1,275 603
EERMTHAH 59 68 127 55
{BAHT 522 30 552 548
BAEI—TH 841 971 1,812 820
BABETZTHE 1,046 1,298 2,344 1,148
BAXBI=TH 531 574 1,105 513
BXETETH 885 927 1,812 891
BAXBTATH 587 638 1,225 582
BAEIRTH 392 420 812 433
st _E BT 353 324 677 366
t EBT—TH 248 218 466 311
tH ERT=TH 472 466 938 483
M EBT=TH 455 517 972 489
M EBTETH 295 280 575 249
TR 3,712 3,836 7,548 3,094
EYEN:) 449 477 926 362
KEBRI—TH 444 430 874 350




SMTEI10ARBRE AD-HEHER

E: S &5t HEE
RERT=TH 654 764 1,418 590
RERT=TH 1,204 1,291 2,495 1,077
[AEBTET B 427 448 875 367
[AEETETH 1,293 1,465 2,758 1,350
) 4,149 4,341 8,490 3,369
WSAEH—TH 448 484 932 357
WAEHZTH 628 650 1,278 507
WAREH=TH 2,048 2,238 4,286 1,617
WASAZEHETH 1,525 1,710 3,235 1,112
WAREHATH 533 605 1,138 432
R 454 474 928 397
DFiaill 237 262 499 217
$hAEET 353 376 729 296
= #KHET 660 704 1,364 545
FOH BT 759 776 1,535 590
R EET 266 248 514 224
s AT 683 657 1,340 511
B HT 1,102 1,068 2,170 874
S2RET 162 179 341 147
NDFEHFHF—TEH 1,058 1,118 2,176 816
NEHFHF_-TH 1,250 1,285 2,535 936
NEHF=TH 603 601 1,204 504
TBEE—TH 461 513 974 409
HELS-TH 732 788 1,520 587
HFELS=TH 612 732 1,344 579
FBEE—TH 870 924 1,794 774
S$BE=TH 1,220 1,302 2,522 1,067
KBEE=TH 1,178 1,273 2,451 1,194
oM EH—TH 1,375 1,311 2,686 738
oM H=TH 1,399 1,533 2,932 984
EIOMNH=TH 846 896 1,742 509
EIONHRTH 407 443 850 245
[Z2AFHATH 328 333 661 198
AT=E—TH 445 451 896 289
HTE=B=TH 590 568 1,158 339
ANHEB—TH 321 326 647 309
NHEHETZTH 485 505 990 379
NHEHET=TH 535 567 1,102 413
ANHEBTETH 322 364 686 254
EEE—TH 968 996 1,964 830
EEE=TH 812 822 1,634 775
EE=TH 710 728 1,438 522
EERMTH 259 294 553 272
HEET—TH 372 351 723 345
EEBI—TH 358 373 731 255
EWMEI=TH 259 267 526 202
ERETmRT B 234 210 444 204
EWMETRTH 442 451 893 382
HERBEIRTH 393 437 830 350
3F HHET 3 5 8 4
FHE—TH 220 231 451 224
FHETZTH 588 696 1,284 588
FHBT=TH 166 191 357 139
o E—TH 250 283 533 225
ByE_TH 656 723 1,379 593
o E=TH 199 225 424 166




SHTHE10AKRRE

A R

= &5t A
FHUE 1 1 2 1
HPHEF—TH 26 18 44 44
HHHEF_=—TH 1 0 1 1
EAKJIHT 154 184 338 138
=i 237 250 487 206
AFHHT 383 369 752 359
& KHET 403 423 826 351
WEFHET 200 200 400 170
T/ AT—U—TH 1 4 5 5
THO/AT—V=TH 5 0 5 5
1 BT 300 314 614 233
/NEy FH T 271 304 575 236
T=H 211 238 449 189
[ 3if T 388 386 774 327
HE E LLIET 7 4 11 7
Jt B R AT 192 203 395 171
[iE] BT 104 101 205 84
N R HET 117 121 238 94
FEIEMT 135 140 275 124
f25aET 370 392 762 298
78 o i BT 137 138 275 113
A SR ET 236 253 489 212
KEFET 189 189 378 169
=—TH 190 210 400 262
E=_TH 460 590 1,050 606
E£=TH 484 590 1,074 597
& 94 98 192 82
EFHET 97 127 224 100
EHE—TH 262 306 568 259
EHET—TH 186 193 379 173
AHET 783 877 1,660 790
= FUET 1 0 1 1
EME—TH 480 513 993 462
EMEI=TH 496 504 1,000 517
EMEI=TH 412 438 850 451
HT 1,880 2,098 3,978 1,719
BDIEH 8 9 17 10
ENER—TH 393 366 759 399
BNER=TH 773 747 1,520 727
BOER=TH 729 610 1,339 535
ERHET 1,181 1,257 2,438 1,090
T FHT 791 820 1,611 647
FFHEI—TH 140 163 303 155
FFEI—TH 319 328 647 319
FFH=TH 404 402 806 384
/|NEFHT 70 81 151 64
glLE—TH 590 666 1,256 548
gL =-TH 1,457 1,428 2,885 1,727
B2lL&E=TH 1,500 1,661 3,161 1,542
BLUEMmTH 428 501 929 387
85t 90,059 95,960 186,019 79,499
S UIEADRED 1,337 1,250 2,587 1,523

KEM24F7AXRBENGIINEANZEAZETY,
KEFOAOANTOIDITRIFEHSATVEE A,




